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POPULATION STUDIES

Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Read the following passage and answer the
questions given below (1 to 6):

The geographical setting of a town is
of great importance in determining the
quality of urban environment, stimulating
its further growth and occasionally
threatening its very survival. The physical
attributes of a town influence its
attractiveness to residents and outsiders
alike. Much of the beauty of a town is
inherent in its location and surroundings
and it is for this reason that planners take
care in selecting a proper site for a new
town. A city with hills and a rolling terrain
has greater charm than a flat city; further, a
city having features of scenic beauty like a
lake, a river, a beach or a good view of
magnificent snow-covered maintains has
natural charm. On the other hand, the
geographical setting of a city may pose.a
serious threat to its survival. Many cities.of
the world have been destroyed by floods,
earthquakes and other natural calamities.
Cities located on flood plains obvieusly
face a threat. Often flash floods on smaller
rivers are for more devastating” than the
flooding on larger rivers.

1. Quality of urban_environment is
determined.. by, which of the
following ?

(A) Size of the urban population
(B)e..Size of the urban settlement
(C)...Geographical setting

(D) Traffic flow

2. What are the factors which planners
consider in selecting a site for a new
town ?

(A) Location

(B) Surroundings

(C) Physical attributes
(D) All the above

Geographical setting may pose a
threat in the event of

(A) Congestion

(B) Natural Calamities like floods
and earthquakes

(C) Pollution

(D) Settlement density

Cities located.on smaller rivers are
likely to face the:threat of

(A) .Flaods
(B)“y¢Flashloods
(€) . Urban sprawl
(D). Transportation

A town becomes attractive to its
residents and visitors alike because
of

(A) Scenic beauty
(B) Physical attributes
(C) Infrastructure
(D) All the above

In the past many cities have been
destroyed due to

(A) Natural calamities

(B) War

(C) Political unrest

(D) Pollution and congestion

Which among the following States
contributed to the maximum decline
in overall decadal growth rate of the
country ?

(A) Uttar Pradesh
(B) Madhya Pradesh
(C) Maharashtra

(D) Bihar

Paper-111 www.sakshieducation.com S-15-13
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Arrange the following States in
ascending order according to the
number of migrants in their
population :

(i) Delhi

(i) Haryana

(iii) Maharashtra

(iv) Punjab

Codes :

(A) @) (i) (i) (iv)
(8) (i) () @) ()
(©) (v) () (i) (i

(D) (i) (i) (iv) (i)
Maximum female migration in India
is observed in

(A) Rural to Rural Stream

(B) Rural to Urban Stream

(C) Urban to Urban Stream

(D) Urban to Rural Stream

Percentage of life time migrants to
total population of India is
approximately

(A) 25 percent
(C) 35 percent

(B) 30 percent
(D) 40 percent

The total number of illiterate‘women
in India as per 2011 Census Statistics
is close to

(A) 200 million
(B) 225 million
(C) 250 million
(D) 275 milhon

The average density (per sq. km.) of
population in India as per 2011
Census figures is around

(A) 350 (B) 360

(C) 370 (D) 380

The maximum proportion of women
in female-headed households is
(A) Divorced

(B) Married
(C) Never-married
(D) Widowed

14.

15.

16.

17.

18.

www.sakshieducation.com

The proportion of female-headed
households in India ranges between
(A) <10 percent

(B) 10 to 15 percent

(C) 15.1to 20 percent

(D) > 20 percent

Who among the  following
Demographers has presented-first the
Theory of Demographic Transition in
an almost mature_. form" with
explanation for the changes in
fertility ?

(A) Landry

(B) Warren Thompson

(C) «Frank' W. Notestein

(D) »C:R. Blacker

How many times National Family
Health  Survey (NFHS) was
conducted in India ?

(A) Two times

(B) Three times

(C) Onetime

(D) Four times

Which was the nodal agency chosen
for conducting National Family
Health Survey in India ?

(A) National Institute of Health and
Family Welfare (NIHFW),
New Delhi.

(B) International
Population
Mumbai

(C) National Institute of Nutrition
(NIN), Hyderabad

(D) Tata Institute of
Sciences (TISS), Mumbai

Institute  for
Sciences  (IIPs),

Social

When India Government has adopted
Family Planning Programme ?

(A) 1952 (B) 1951
(C) 1953 (D) 1949
5-15-13
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(i) feoott

(i) eRamm

(ili) TR

(iv) o
FE :

(A) (i)

(B) (iii)

(i) (i) (iv)
(i) (i) (iv)

C) (v) () (i) (i)

(D) (i) (i) (iv) (i)

TR | 2Meehdy Afeet Jarg Fefarad
o fhas 3@ S € 9

(A) TiE g e o

(B) T ¥ W H

(C) v ATRH

(D) I I TEH

TSTe et bt Ufaeraar 9Rd
ol STHGEAT Tl T

(A) 25vfed e | (B) 30 Ufdw € |
(C) 35ufaw@e | (D) 40 ufawmd |

g 2011 T STATUAT FireTht & AR
IRA | ST AfeeTeT Sl HEar o
T & 2

(A) 200 fferm

(B) 225 fafer

(C) 250 fferem

(D) 275 i

AT 2011 N STRIOMT & ARG & 3TAR
TRA ST 1 SGd g-cd (U o
Theiey) Ffarad 5 & fhas 31d-
ee?

(A) 350 (B) 360

(C) 370 (D) 380

Afeet A aret =X | {hd TR &
AgctTeT T ST STk & 2

(A) TR

(B) foenfea

(C) 3Ttia atfaated

(D) fagen

14.

15.

16.

17.

18.
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IRA ° S-gREdr oo B #T S
 mdmE

(A) < 10 wfcerd

(B) 10 ¥ 15 uferd

(C) 15.1% 20 Hfdwrd

(D) > 20 wfcerd

faffaq @ 4 o SHithRieR o
TSRl § URed i AR Aed
T UROe Y | SHifehehl, TshHOT
EEARICARCER AR LI PP R 221

(A) =gt

(B) oA ZiFqa

(C) Sk sseg ATe

(D) T ST

IO O U URAGR @ HaAeToT
fehal IR T T & ?

(A) T &R

(B) @M aR
(C) THaX
(D) =IXEIR

TRd | IEE URER @R HAel

TAeId 3 & Tow fefeieaa o 9 fd

Treet TSl % &9 § AT 74T 2

(A) TLE W Ud qRaR e
TIH (THTRTIURES), 72 Seett

(B) SR SHEE foum e
(e, go

(C) UL dwoT T (TAAET),
EREICY

(D) Z@m wme  fagm g
(SraméTaT), gag

R TSR 7 TR I HE%A &
YT ?

(A) 1952 (B) 1951

(C) 1953 (D) 1949
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What is the optimum number of ante-
natal care visits by health worker
prescribed by Government of India ?
(A) 2 (B) 3
€ 4 (D) 5

What is the source for calculating
Below Poverty Line (BPL) in India ?
(A) Census

(B) National Sample Survey

(C) Sample Registration System
(D) National Family Health Survey

Which one of the following
numerator adjustment method is used
in computing infant mortality rate ?

D + D}
(A) MR, =5 1000
D5 D3
B) IMR,=|5+35|x1000
(B) 2 {Bl Bj

D,(1-f) fD,
(C) IMR,= B—2+B_1 x 1000

D2
(1-fHB,+ 1B,

(D) IMR,= «'1000

Given the population _size “of two
points in time, one can compute the
rate of population _change by the
following indicators :

l. Arithmetic . rate of population

growih

Il. Geometric rate of population
growth

M. " Exponential rate of population
growth

Code the combination  which

describes their actual order, from

large to small :

Codes :

(A) 110

(B) I, 11,1

C©) 1,

(D) I, 1,1

23.

24.

25.
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Full child immunizations covers the

following immunizations. Code the

correct combination.

(A) BCG + Polio + DPT + Measles

(B) BCG + 3 Polio + At least one
DPT + Measles

(C) BCG + At least one Polio + At
least one DPT + Measles

(D) BCG + 3 Polio + 3_DPT +
Measles

Arrange four events related to family
welfare programme according to time
period, earlier to more recent ones :
(i) International Conference on
Population and Development

(ICPD)

(i)». Reproductive and Child Health
(RCH)

(ili) Child Survival and Safe

Motherhood (CSSM)
(iv) National Rural Health Mission

(NRHM)
Codes :
(A) (i) (1) (i) (iv)
(B) (i) (i) () (iv)
(C) () (i) (i) (iv)
(D) (i) @) (i) (iv)

Assertion (A) Uttarakhand had
experienced natural disaster in
recent past.

Reason (R) : It may be attributed to
unplanned development in and
around its vicinity.

Codes :

(A) (A) is correct and (R) is not
right explanation for (A).

(B) (A) is not correct and (R) is
also not correct.

(C) (A) is correct and (R) is the
correct explanation of (A).

(D) (A) is wrong and (R) is also
wrong.

S-15-13
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ffafad & 4 6 |ia &1 3uaiT 6
ST & 2

(A) STITOTET

(B) IR Aot TeiaTor

(C) &gt USTishuT JoTet

(D) UL UNER T FaeioT

(B) 3
(D) 5

B g9 R % uReed & f@w
Fafafed 9 9 fog favmes gqEsH
fafe =1 STt foma ST 7 2

D3 + D)
BZ
B) IMR,=|5+5|x1000
®) 2B, B,
D2(l—f) fD2
©) IMR,=|~ 5+, | 1000
(1-1)B, 1B,

(A) IMR, = x 1000

(D) IMR, %1000

T U 37 gl TOSTHEEA i HR
SHEET | AREd H I B IR
fepam ST HeRc €

I, STEE gty # SR 5T
Il "\ S 9gig i st 33
[l S5 g i =i 33

T B H AR 3% ARAGH HH H
oo forar T E |

FT

(A) 1,10, 11

®) 11,1

© 1,1

D) 1,11, 11

23.

24.

25.
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quT Y] UfaRRIor % SR FEferad

T i i fafeTd wifsw

(A) ST + Tiferar+ St + TERT

(B) ST + 3 WifeTal + $HH-9-%HT TH
e + T

(C) «NENT + HH-9-%9 TH aiferdr +
FHH-T-HH T S + T

(D) Rt + 3 wiferar +.8 SRl +
EELS Ny

IRER FeamoT HEHT)E e 9R)

T3 I FHAEY, & AR Tee el

Y % 9Tt & 5T § AR HIfTT ;

(i)  “3eTITHe R 3 T TUe
SaEIHe (312 9 Ot )

(ii)/ \fonefea we arRes & (3R At
T)

(iii) <o WARTA TWT IF HIES
(& T 7" )

(iv) M & & eE (T7 3R
T TH)

FE:

(A) (i) (@) (i) (iv)

(B) (i) (i) () (iv)

C€) (@ (i) (i) (iv)

(D) (i) () (i) (iv)

AMHTT (A) : FTA W IWETS A

TTShTdeh ToTST T ST e T € |
FHRUT (R) : TH STEUE § T 39
M-I AT forebrT & HRoT
T THATE |
FE:

(A) (A) T & 3R (R), (A) &1 Tl
TR TRl T |

(B) (A) W&l Tl & 2% (R) ot @&t et
T |

(C) (A) W & aur (R), (A) F Tl
WS & |

(D) (A) TTeid & @ (R) off 7ot € |
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India’s Population Policy of 2000 has
focussed on which of the following
fertility indicator ?

(A) CBR

(B) NRR

(C) Unmet need

(D) None of the above

The following indicators of mortality
are given :

l. Neo-natal mortality

Il.  Post neo-natal mortality

I1l.  Infant mortality

IV. Under-5 mortality

Code the combination which
describes their order, low to high :

Codes :

A IV
® 10 1o
€ 1 monov
O v 1 1

Civil Registration Statistics generally
collects data on

l. Births

Il. Deaths

I11.  Cause of death
IV. Marriages

In India, Sample Registration System
collects the following types of data.

Choose the correct code :
Codes :
(A) A nom v
(B)l nm

| | I \V4

|

(€)
(D)

Which one of the following proposed
Epidemiological Transition ?

(A) Caldwell

(B) Omran

(C) McKeown

(D) Notestein

30.

31.

32.

33.
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Which one of the following is correct

in explaining an ecological unit ?

(A) Audience in a Movie Theatre

(B) A Range of Valleys and
Mountains

(C) A City with its satellite towns

(D) All the above

Which of the following assumption is

correct for stable population™?

(A) Age-specific fertility and age
specific mortality hassremained
unchanged ip-the.past.

(B) Fertility and__ mortality has
remaineds, unchanged in the
past.

(C) *Age-specific  fertility, age
specific mortality has remained
unchanged and migration is nil.

(D). None of the above.

Arrange the following States by their
sex ratio in Census 2011, from high
to low :

(i)  Tamil Nadu

(i) Karnataka

(iii) Andhra Pradesh

(iv) Kerala

Codes :

(A) () (i) (i) (iv)
(B) (iv) () (i) (i)
(C) (iv) (i) (i) (iii)
(D) (iv) (i) (i) (i)

Arrange the following States by their
current level of infant mortality from
high to low :

(i) Odisha

(i) Madhya Pradesh

(iif) Uttar Pradesh

(iv) Bihar

Codes :

(A) (1) (i) (i) (iv)
(B) () (iv) (i) (iii)
(€ @) (@) (iv) (i)
(D) (i) (i) (i) (iv)
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26. YRA H SHGET G, 2000 H
FrAfefga Teeiierar Sehdesl | 9 foha
TR A higd TohaT T E 2
(A) @ &t e’
(B) T 3R AR
(C) 319 v
(D) S H A HiE TE

27. oI % (ETeAtEd Febdeh ST MU
I asTa forg] i gogan
Il o fore] ot TaeR gogan
1. Tore] gogan
V. 53999 %9 g o gogar
T T O 3=F 3T T T
%
A 11V
@ 1 1 o
© 1 mounov
D) IV 1 1l

28. AN USHRUT Wt H AU
frfafed & ddy O 3fie U U
SickS
l. S
. g
1. 5o 1 HROT
Iv. foam®
TR H Uldeel GSeROT  Womenr o
FTfRad TR & 3iiohg U U ST

T | TE B HT T BN

FT :

(A) L1 v

@ 1

©1 v

o 1

29. ‘UUSHIAATTRA L9
forgent 37 8 2
(A) FHegdd
(B) =
(C) A
(D) AT
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T TR gh1E ol T i & fow
frfafed d @ s A @@ & 2

(A) T U § Teited ST 39
(B) wfeal 31T yddi =i Ush Sl
(C) 37U TIE IR & T T TR
(D) ST &+

fer SaEn & g9y § fFefefiea 5 9

i | RO el & 2

(A) TIMARTE  SHAEG o o9-
fafre  adar _fare, o9t o
3TaRafad & & |

(B) S &THAT AT Heal forTd i
STARATGRTE & |

(C) =F[ARME SFear d«@r =3-
fafgree medan smafiafad W@ & aen
DI o e g ¥ |

(D) \STg | | g @l

¥ 2011  SOAT § froow o
3O & SR, 3°9 ¥ 4 &% %9 |,
TrATeRad a1 bt eI i

(i) deETg

(i) wew

(iii) = weT

(iv) *

2 -

* G

(i) (i) (iv)
B) (v) @) (i) (i)
© (v) (i) () (i)
(D) (v) (i) (i) ()

frfatea st =i, 38 R g &

A o TR % 399 W IE F T 6 %A
T, eI ST

(i) sfea

(i) 7= w_wT

(iii) TR U=

(iv) TR

A

(A) (1) (i) (i) (iv)
(B) (i) (iv) (i) (iii)
(C) (i) (1) (iv) (iii)
(D) @) (@) (i) (iv)
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34. What are the data requirement to

calculate the neo-natal mortality in

the year 2000 ?

(A) Deaths in the first month of life
and births in the year 2000.

(B) Deaths in the first year of life
in 2000 and births in the year
2000.

(C) Deaths in the 1 — 11 months of
life in 2000 and births in the
year 2000.

(D) Deaths from the 7" month of
pregnancy to first month of life
in 2000 and births in the year
2000.

Think of different columns of life
tables like 1, .a,, L, and T,. 1o
(expectation of life at age 15) is
computed as
L
15
A 1
15
Tis
B 1_
15
Tis
C —_—
(©) Le

(D) None of the above

Name the recent Seurce of data on
morbidity :

(A) Sample Registration System
(B) Census

(C) National Family Health Surveys
(D) “National Sample Survey

Out of eight Millennium
Development Goals (MDGs), how
many of them relate to the health
sector ?

(A) One
(B) Two
(C) Three
(D) Four

38. Some

39.

40.
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important National/
International Days are shown in
List — | and their dates in List — II.
Match the days with their dates :

List—1 List— 11
a. World Population 1. March 8
Day
b. International 2. May 31
Women Day
c. World Anti-~3. July 11

Tobacco Day

d. International Day’ 4. October 1
of Elderly

Codes :

a b c d
Ayv1 2 3 4
B 3 1 2 4
) 3 2 4 1
M 3 4 1 2

India’s National Population Policy of
2000 has goal of population
stabilization. Choose the code which
is true for India :

Codes :

(A) TFRof2.1
(B) NRRof1.0
(C) CBRof21
(D) None of these

Replacement  level fertility is
measured by which of following
indicators of fertility ?

(A) TFR
(B) NRR
(C) GRR
(D) CBR
$-15-13
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34. ad 2000 H FasTq OTg] el o uRehor

35.

36.

37.
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% ToTT foh 2T 1 3Tarv el BT 2

(A) ag 2000 H Sed & W A A
Tq el Bl ST a9 a9 2000 H
ST et i G

(B) @y 2000 ¥ Sia & W a9 | gd
Tt St W& a1 99 2000 H S
Tl St @

(C) @ 2000 H Sfem & Tgod 4,
Red O % AR gd Sedl o
T qAT A 2000 H ST T4 6B
&

(D) a9 2000 H THIEH % 7 W H
TH S F UH T & 3 gd
Tl St W& q9T 99 2000 H S
Tl St @

Strer FRfvrE % fate=r @i <9 1, | q,,

oL, T T, W e i | g (15 3

ST W S T TRt [

PEATAED) ST ?

(A)

I‘15
I15

(B)

©)
(D) 39w H § fopdlt qhR et

ST W “Z2. (3ThE) & oW e
Hld T AT, FAALT

(A) TGS JoTett

(B) SFWOAT

(C) \ TET UNER T TaeToT

(D) T WEICT FERIOT

Teellss fard @l (THeEST) &3S
T 4 9 fepde @ % &7 9 Helfud
£

(A) T

(B) =

(C) @

(D) =W

Tis
li5
Tis
Lis

38. Al — | W FB HETOUl AL/ R

39.

40.

www.sakshiaeducation.com

feami & 9 fgu 0 & q g - Il |
3T IS B T T E 1w

feardt @t e faferat 9 gafea ST ;
= - | = - 1
a. e sEEr e 1. w98

b. R Afeen fgem 2. _#wE 31

c. fova armE R 8. Seme 11
feag

d. fova segs Koy 4, FFRT1
FE:
a b C d
(A)LS 2 3 4
B 3 1 2 4
© 3 2 4 1
)y 3 4 1 2

IRAE T SHEE AT 2000 H
SEET TR & e € | 9Rd %
1T T2t hie 1 =TT HIT

HIE
(A) 2.1 F 3 TH AW

(B) 1.0 T U 3TN 3T
(C) 21 & G &t W
(D) S H A HiE TE

T T SRTHaT ol Fterad o
Y fFy gaeh o RT AT S § 2

(A) T TE AR
(B) TH W AR
(C) St o &R
(D) & AR
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Match List — I with List — 11 ;

List—1 List—11

a. Index of overall ~ ZhU;
fertility I. m

b. Index of marital _ XFm,
fertility I SF,W,

c. Indexof fertility of ~  Xf W,
non-married women Il SF,W,

d. Index of the - Zgymy
proportion of Iv. ﬂ

married women

Codes :

a b Cc d
(A) i i iv iii
(B) i i iii iv
(C) iv iii i i
(D) iii iv i i

The Sample Registration System
(SRS) has been providing reliable
estimates of which among the
following ?

(A) Fertility only

(B) Mortality only

(C) Both Fertility and Mortality.
(D) None among the above

Which of the following, States has
lowest use of temporary
contraceptives methods according
to National Family Health Survey
2005-06 ?

(A) Andhra Pradesh

(B) Kerala

(C)en Jammu & Kashmir

(D)., Assam

Which of the following States has the
highest use of temporary
contraceptive methods according to
National Family Survey 2005-06 ?
(A) Bihar

(B) Maharashtra

(C) Kerala

(D) Delhi

45.

46.

47.

48.

49.
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Which one of the following is not a

component of direct anti-natalist

policy ?

(A) Provision of
Services

(B) Incentives for
Family Planning

(C) Liberalization of Abortion Laws

(D) Raising age of Marriage

Contraceptive

adoption of

Who proposed Threshold Hypothesis
in Fertility ?

(A) Becker

(B) Dumont

(C) United'Nations Organisation
(D) Caldwell

Who “among the following viewed
that children have utilitarian value ?

(A)" Caldwell
(B) Leibenstein
(C) Becker

(D) Judith Blake

Which one among the following is
considered effectiveness of oral pills
while computing couple protection
rate ?

(A) 50 percent

(B) 75 percent

(C) 95 percent

(D) 100 percent

For Estimation of Singulate Mean

Age of marriage using Hajnal’s

method, which among the following

assumption is correct ?

(A) Both fertility and mortality
have remained constant in past.

(B) Marriage has remained
constant in past.

(C) Fertility has been constant in
past.

(D) Mortality has been constant in
past.

S-15-13
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41, g&Et — | ® gE - |1 % 9 gafed
T
= - | =it - 11
a. FAWFAHRAGTH  ThU,
" SFU,
b.  defeeh ot _ ZFm,
REeED I W
c. Hfoenfed wleematis  Tf,W,
ST oh1 T . SF,W,
d. foarfed Afeen s/m@ =g;m,
T T I V. SF,m,
H
a b C d
A Qi 0 v i
®) i i i v
© iv i i i
) Qi v i i
42. TidEe USEROT YT (TR SR UH) H
fr=fefad & 9 g gy | favaga
A ST TohT STt & 2
(A) HaeT YSTHATCTaT
(B) heet gegell '
(C) USH-RIeIdT 3 JogaT gL
(D) S | § HE T
43. TEE URER W GO 2005-06 &
3R FefetEa g H(Q e =g |
ST T g faREr 3w
AT g 2
(A) 3Ty Je=
(B) &
(C). 79 8T} H3UR
(D) . st
44, T URER W G 2005-06 &
SR FATerEa el § 9 fohg g °
STt T TRges fafet wr sttsan
3IqgRT foRa T 2
(A) feer
(B) wermL
(C) &=
(D) feeedt
S-15-13
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46.
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fefefad & 9 Gyl S T e

% T Teoret =i ol T2 el & 9

(A) T FRIYs YareT S e

(B) uWNar fEsH o m % fou
EIRSIEE |

(C) Tvure Heiedt et o SRR

(D) oo Ff 3 JgFT

ST W ‘Ovlies BRUENEE’ W
T e e fepam 2

(A) =%

(B) gl

(C) +gx TZEH

(D) IeEect

At 0 ¥ g foar 9 a=ar &
USSR Jod &l & ?

(A) e

(B) dfa=rEA

(C) =%

(D) Sffe =i

U S R I 1 IR B T
frfefad & & 68 @ are et @

TTEehINAT THE ST € 2
(A) 50 UfcTeTe i

(B) 75 ufcere =t

(C) 95 ufcere =t

(D) 100 Ui <t

&St i UETT 1 ST R gU foae

<l férpete e 3 (et =i ot U

A & fow f=fafed & @ &9 @

RO T T 2

(A) I § USRI 3T gogar g
THTA & E |

(B) Ud H foam® THEHH W B |

(C) U8 H USHASNeIal UHEHM &l
Gl

(D) Y& H YAl UHETH &I El |
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Which among the following is not a
natural contraceptive method ?

(A) Coitus interruptus

(B) Celibacy

(C) I1UCD

(D) Periodic Abstinence

Assertion (A) : Most of the North
Indian States have attained
Replacement level of fertility.

Reason (R) : It is due to slow decline
in the growth of the population
among the North Indian States.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

The infant mortality rate of the
country as per SRS Bulletin October
2012 falls in which amongst the
following categories ? (Per thousand

live births)
(A) 1-19.9 (B) %20 -29.9
(C) 30-39.9 (D)=.40—49.9

Assertion (A) : “In India fertility
showed declining trend since
late seventies.

Reason (R) : ‘Mainly because infant
mortality rate has also showed
declining trend simultaneously
since late seventies.

Codes :

(A) (A) is correct and (R) is not the
correct explanation of (A).

(B) (A) is correct, but (R) is the
correct explanation of (A).

(C) (A) is not correct and (R) is
also not correct.

(D) (A) is correct, but (R) is not
correct.

54,

55.

56.

S7.
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For calculation of General Marital

Fertility Rate the denominator is

(A) unmarried women 15 — 49 age
group

(B) population in the age group 15
— 49 years

(C) all women in the age group (15
-49)

(D) married women in the age
group (15 — 49) years

As per the SRS Bulletin, October
2012, estimated natural growth rate
lies in which among' the following
categories ?

(A) 10.1-=12
(C) 141 -16

(B) 12.1-14
(D) 16.1-18

UnitedwsNations Age-Sex accuracy

Index considers

(A) Mean deviations at the age
ratios for males from 100

(B) Mean deviations of the age
ratios for females from 100

(C) Three times the mean of the
age differences as reported sex
ratios

(D) All the above

Match List — | with List =11 :

List—1 List— 11
a. Speare i. Mover-Stayer
Model
b. Markov- ii. Economic
Chain Considerations
Model
c. Lee, Fei iii. Cost-Benefit
and Rains Model
Model
d. Todaro iv. Wage
differentials
Codes :
a b c d
(A) i iv i iii
(B) iv i i iii
(C) i iv iii i
(D) iii i iv i
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50. FATAREd & i 9t Wbl T

fafa 781 & 2
(A) I FEEH
(B) weHId
(C) sy
(D) ety o

afirpe (A) : I URA & AHHT
T A USRI o it
T I Y e €

% (R) : 98 I 9Rd & T A
e & Ggtg W A oSt o
fRTE 3TH % RV e T |

ETE

(A) (A) & (R) 3 Tl € X (R),
(A) T T& AR E |

(B) (A) 3R (R) 3HI Wel T Wi
(R), (A) & T&E = T ¢ |

(C) (A) W& g, dfer (R) Toid |

(D) (A) 7o €, wifeh (R) W&l & |

T 3R UH olfed, e 2012 &
3TER I i T gegan ¥ FAfefad
Aot & F 59 Sl & iaiq e ¢ ?
(9T T &R Sifad S0 o)

(A) 1-19.9  (B)“20-299
(C) 30-39.9  (D)y)40—49.9

AfHe (A) : YR H TRd 96 F
STY WIS § R1EE &
T fEErE & |

% (R) : S8 T&F HRUT Fad 396 F
ST ¥ FR] g & H S H
T off e 7

(A) (A) T ¥ 3T (R), (A) & Tl
AT TR T |

(B) (A) Wl & @f (R), (A) = Tl
T E |

(C) (A) W&l =& & 3iiX (R) +ff @&t Tef
T |
(D) (A) Wl g, wfeh (R) el T&l ¢ |

54.

55.

56.
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=T ddTigeh TS 3T % UReher &

o fr=tefaa &1 femfrer w=n e 2

(A) 15 — 49 g T & Jgaied
ESgley

(B) 15 — 49 =9 I g WHE H
TG

(C) (15 — 49) 37 T9g § Tqit Afeemd

(D) (15 — 49) a9 = oy W ¥
Toenfe Afgems

T AR U goled, STEY 2012 &
TN A (HGi dE
Ffeiiad o 9 ford &iott o iaa STt
T2

(A) 104212
(C)-14.1=16

(B) 12.1-14
(D) 16.1-18

FATatEd § fhd 9ge g 3g-forT

YT FhIh FH AT & 2

(A) 100 & & q&6T % feTT g 3Turd
Arey feraer

(B) 100 & & #Renslt & fow Mg
FTIATT T 77eA foee

(C) gfom form o o &9 § 31g
3TRT % W1 1 A AT

(D) SwRIeRT Tt

A — | @ gE - 1 % Er gaferd
FHIfTT

=i - | =t - 1
a. TR i, TR IR Hiee
b. AEE-TT i, TS

Hreet FHHEE

c. ol W aA iii. pre-afre Aige
w ~

d. =R iv. as femiferaer
E T
a b c d
(A) i iv i iii
(B) iv i i iii
(C) ii iv iii i
(D) iii i iv i
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Which one among the following is
not matched correctly ?

(A) Life table : Age Specific
Death Rates
(B) Usage of : Couple
Contraception Protection
Rate
(C) Crude Death Child Women

Rate Ratio
(D) Age Specific : Total Fertility
Fertility Rate Rate

Arrange the following in ascending
order of formation :

(i) City

(i)  Metropolis

(iii) Conurbation

(iv) Urban Agglomeration

Codes :

(A) i i iii iv
(B) iv ii i iii
(& iii ii iv
(D) i iv i iii

The Total Fertility Rate is

(A) the total number of children
born in a country. in a“given
year divided by labour force.

(B) the number of children born to
the average woman“during her
reproductive years.

(C) the number “of births in a
country... divided by total
population in a given year.

(D). the“'number of women age
15 — 45 in a country divided by
total population.

China and India constituted around
percentage of the world’s

population.

(A) 40 percent

(B) 10 percent

(C) 80 percent

(D) 0.10 percent

62.

63.

64.

65.

66.
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With population growth rate of 1.0
how much time it would take to
double the population ?

(A) 28 years (B) 46 years
(C) 70 years (D) 100 years

The disease burden could be
measured by the following index :
(A) Mortality adjusted life years
(B) Premature deaths

(C) Mortality-fertility ratio

(D) Disability adjusted life years

world’s
developing

What  proportion . of
population  lives win
countries ?

(A) Approximately 35%
(B), “Approximately 80%
(C) ““Nearly 10 billion people
(D). v Less than 1 billion people

Most of the early development in

demography took place in

(A) England, France, Germany and
few other European countries

(B) United States of America and
few Latin American countries

(C) Australia, India, China and
Russia

(D) None of the above countries

Assertion (A) : By National Family
health survey it is found that
Several North Indian States
fertility is still higher as
compared with the South
Indian States.

Reason (R) : It is mainly because in
the North Indian States ‘unmet
need’ of contraceptives of
eligible couples.

Codes :

(A) Both (A) and (R) are true and (R)
Is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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58. frfefaa & @ i a1 gafed @ € 2

(A) Stia= afersr ;. eTg-fafeme gogae
(B) ™ figei : smid gwm R
T ITAT (FIA TR )
(C) sremfea . SToT-HfgeT S
qIX
(D) smgfafere © FATHI
S T

59. freAfefed ®f s % ARG HA H
AT HINT
(A) TR
(B) #WeEW
(C) WA stfdfewdr
(D) ¥t e
HiE
A 0 Qi i v
®) v Qi Qi
© i i i v
© i v Qi i

60. THoT IS X FATE ?

(A) o 3o F fopelt, few o o e
Y foifoid e o g Wi g

(B) wfget & SH=eTH &l | UsT 8T
Tl St T G

(C) fodl 391 H S ofF et sTedl b
T % THe KT M W H
SHEE, g oSt s W e
T

(D). TRETRY § 15-45 99 I g ATt
 faistd e o a8 U St

61. = AT IRA P G STHEEA v H
TGN ! ST et Ufaerd & 2
(A) 40 Ufderd
(B) 10 Hicaerd
(C) 80 wfeeTa
(D)  0.10 AT
S-15-13
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SHEET H 1.0 JhE T F A G
1 T & | {ohe=1 THT TR 2

(A) 2899 (B) 46ay

(C) 70a9 (D) 100 &

frfafed & ¥ f6ae g1 A1 9R &
HTOT T Fehell & 2

(A) HAT TEEINT Siifad & & a9

(B) MR Jg

(C) Tl ISt 3T

(D)  3TUTAT THTENSIT Siifere, e & a9

feree-STaeT o1 TohamT eieT fashrasiet
SO H @ § 2

(A) T™HT35%

(B) _TTPT80%

(C)n. TWIIA O Taferae ot

(D). W Taferem & %1 &

SR | eI URMe  faer

Frfefad & o foeg o gam o 2

(A) FoiE, HiE, ST R F T
PUEREN R

(B) T ToT STEIS 3R FF AfeA
3TIenT ST

(C) oRferan, R, =i 3R & |

(D) SUIT I H F fomdt H ot T

afipeE (A) : 9Ra § T T aEE
TRAR T FaeTo | qaT =erdr
¢ % S 9Ra & & T A
TR STeT0T SR o T4 o
T | 31l off S & |

% (R) : TUHI =T HRUT € & [ W
YR % A o Uil wf Sl
STETFHATE I el ol T F |

ETE

(A) (A) 3R (R) 31 &l € &R (R),
(A) F T& AR E |

(B) (A) & (R) 3l Tl ¥ 3N (R),
(A) Ff el =T FE T |

(C) (A) W& g, &l (R) Toid & |

(D) (A) Tord €, wifeh (R) W& € |
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The Sample Registration System in
India became operational in which
among the following periods ?

(A) 1963-64 (B) 1969-70
(C) 1973-74 (D) 1983-84

According to 2001 Census of India
percentage of the Scheduled Caste
population falls under which of the
following categories ?

(A) 10-13.9 %
(B) 14-17.9%
(C) 18-21.9%
(D) 22-24.9%

For the estimation of crude birth rate
the denominator is

(A) total population of the
respective geographical area

(B) total child population age
(0-4)

(C) mid-year population of the
respective calendar year

(D) female population in
reproductive age groupw«in the
respective calendar year

As per the Sample, “Registration
Scheme (SRS) Bulletin October 2012
the estimated«Crude Birth rate for the
country is (per.thousand population)

(A) 14-16 (B) 17-19
(C)4n20 — 22 (D) 23-25

Simon’s Model is consistent with

(A) population self-sufficiency and
constant economic growth

(B) low fertility and mortality

(C) a laissez-faire  population
policy

(D) economies of scale

72.

73.

74.

75.
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Longevity is a proxy for in
the Human Development Index.

(A) Health and Nutrition

(B) Living Standard

(C) Infant Mortality

(D) Purchasing Power Parity

A stationary population, IS+ when
population growth is

(A) increasing
(B) decreasing
(C) <zero

(D). '100'%

Janani-Shishu Suraksha Yojana (JSY)
is a scheme operating under which of
the national programmes ?

(A) ICDS (Integrated Child
Development Scheme)

(B) NRHM (National Rural Health

Mission)

(C) NHM (National Health
Mission)

(D) NUHM (National Urban Health
Mission)

In the use of indirect methods of
estimation, P/F ratio is used to
estimate

(A) Fertility
(B) Mortality
(C) Nuptiality

(D) Intrinsic rate of growth

S-15-13
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TR H UfdasT USiehoT JoTTelt e
T ¥ o erafy o =re] @i 7 92

(A) 1963-64 (B) 1969-70
(C) 1973-74 (D) 1983-84

IRA W SOAET, 2001 % AR
Sfd @t ufaerd S

?m%f@ﬁﬁﬁﬁwsﬁnﬁ%aiwiﬁaﬁ

0

(A) 10 — 13.9 wfaer

(B) 14 — 17.9 wfaera

(C) 18 —21.9 UfTerd

(D) 22 — 24.9 Ufded

IWNYA S+ X % M & fold

fefifmex &

(A) TEfad WFlfeie & & oA
ST

(B) (0 - 4) &g % == H FA
ST

(C) Hafyd shelet a9 & T oy @i
S

(D) efud holel o H S-S
g T9E § et @i s

o WTLIE @i (@ IR 1)

FeAfed, THRR, 20123 AR I H
ST 3TIMTYA, S &% (I T &R
STHEE) &

(A) 14+16
(C) 20=22

(B) 17-19
(D) 23-25

oo

GEERR R RETSED

T & Tl i e
T ETAT & 2
(A) SHEE @R

amferep faspra

(B) T STHSTHAT T Hedd

qqr qad

(C) TESTHIR SIS At

(D) URHTOTeTeh gormd

72.

73.

74.

75.
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e foea SgEe § g %
forT wRieft & |
(A) TETRA qAT GHT

(B) SfeM-T
(C) Ferey weherm
(D) sRRITeRT FHAT

R S < g ¢ STe, SEe gy
(A) TEET |
(B) = WE |
(C) T
(D) *100% & |

S BTy HRE AT (S T A 6

e [T T HE%H % Aad

fopam ST € 2

(A) o @ T wH EFHRT TEes
TATHE ThiH)

(B) T R U UH (YN WA 74
o)

(C) U U™ UH (Fered g )

(D) ™ 3 T T (R e &
e

3TIAM oI i STrcaet fafedt s 3w
A T, WOE WE F ST
ffafad & 9 fhas S HE o &
fere fepam <Trem & 2

(A) STH=EHT

(B) wcd

(C) danfeenar ToT (ATt

(D) e (=igfeh) gie =
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Subject (15 ) POPULATION STUDIES

Qno Answer Qno Answer
1 c 51 D
2 D 52 D
3 B 53 A
4 B 54 D
> D 55 c
6 A 56 D
7 C 57 D
8 B 58 c
9 A 59 A
10 B 60 B
11 c 61 A
12 P 62 c
13 P 63 D
14 B 64 B
15 c 65 A
16 B 66 A
17 B 67 B
18 A 68 5
19 D 69 C
20 B 70 C
21 c 71 C
22 A 72 A
23 D 73 c
24 A 74 B
25 c 75 A
26 B
27 A
28 D
29 B
30 D
31 c
32 B
33 D
34 A
35 B
36 c
37 c
38 B
39 *

40 B
41 D
42 c
43 A
44 c
45 B
46 c
47 B
48 c
49 B
50 c
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"*" DENOTES MARKS GIVEN TO ALL CANDIDATES
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